
 
 
 
 
 
 

 
 

 
 

 
 

 
  

 
September 2023 

Guidance for this examination 
 

Please ensure that you indicate clearly at the top of the answer booklet, by 
ticking (✓) the relevant box on the front of your examination booklet, the law 
viewpoint from which you will be answering: English, Scottish or Welsh. 
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Section A 
Candidates should attempt to answer four questions. 

Each question carries ten marks. 
Total: 40 marks. 

 
 

1. What is the difference between ‘placing’ a product on the market and ‘making available’ a 
product on the market? Provide examples of where a product is sitting in the supply chain to 
illustrate each
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